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aVINOURBF
IEGL | K4 g 50m 50m = 10
T/MIERE BRT 336 331 667 29 9
2|17 EEH BlRE™ 290 295 585 11 1
EEEIES ZRE 298 286 584 10 4
AVINDUREF
IEGL | K4 g 50m 50m = 10
HUNIIGES BRT 325 329 654 27 8
Yh—TBF
BRI |4 Bil= 70m 70m = 10
|ARREK =R 313 305 618 15 6
2|[REAHRE ZR¥E 296 298 594 14 4
3| KEA—#t ZR¥E 310 284 594 11 5
NELEEIN ZR¥E 300 289 589 9 5
5|BIRE ZRE%E 297 291 588 11 5
6|=EENR |RRFEE 291 288 579 8 3
TR E&h ZE¥E 277 296 573 13 5
8|27 ZRE¥E 268 297 565 12 5
9| HAHHL =R 285 275 560 7 2
10| & P 48R3 ZRE%E 278 265 543 9 5
1M|EKEE ZEERKR 265 278 543 4 1
12|5H&EE ZREK 259 282 541 6 2
13|14 EF ZE¥E 277 260 537 11 1
14| FRAHEE ZE¥E 265 267 532 12 3
15| BB AER ZREK 256 274 530 2 0
16[ZIIEZ FH R A< HT 276 252 528 7 2
17 I ERIAE =R 269 253 522 3 0
18| #04% BR ZREK 255 266 521 8 2
19| FTHhBR ZE¥E 254 264 518 7 3
20|iE<KhiE |REEK 270 243 513 5 3
21| RZEEX ZE¥E 240 271 511 2 1
22| A ZEERKR 253 255 508 4 1
23|ERIB AN ZRE%E 238 259 497 7 3
24| B3 ZEERKR 199 219 418 1 1
25| Hh EA 43 ZEERKR 194 221 415 3 1
26|18 H R ZREK 191 215 406 2 2
27|74 ZREK 197 185 382 5 2
28[:F E& ZREK 203 162 365 6 2
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Yh—T&F

BRI (K4 Bil= 70m 70m a5t 10
1A HEE ZEER 281 268 549 7 1
2|EHEAE ZREK 283 263 546 8 4
3| KFEEEH ZEER 273 268 541 7 0
4| LA ZEER 240 226 466 4 0
5{EiEE ZEER 231 223 454 4 3
6|<F O Emid ZREK 183 220 403 2 0
7|5 ZREK 197 204 401 4 1
8iIAFk ZEER 210 187 397 2 1
98 X¥F |RERER 197 198 395 3 3
V|HEXRZE REEK 201 159 360 1 0
1|\ ER ZREK 173 88 261 4 2

Y h—T 1k

IEHL (K4 Bil= 30m 30m &5t 10
1|EHEEA =R 175 236 411 3 1

AVNOURA—TUBF

IEGL | K4 g 50m 50m = 10
HEEL:EE R 346 343 689 41 15
2|lLA % e B2 18 335 341 676 38 18
SUERKRERE | KR 336 327 663 34 13
4|1 NNE— EER 327 331 658 16 9
5|HPER KBRAF 307 299 606 17 6

aAVINOURF—T oL+

IEGL | K4 g 50m 50m A&t 10
1;EEFF KB AT 315 321 636 13 5
2|k BFERE ERE 318 312 630 16 5
3|M EF KR AT 308 312 620 14 2




